SPRING PIN
91610A406

(MCMASTER PART NO.)
(2 PLACES)

BOTTOM COVER ASSEMBLY

NOTES !

1. MATERTAL -DIE CASTING ALUMINUM ALLOY A380

2. MISSING DIMENSIONS TO BE REFERRED FROM 3D MODEL

3. SURFACE FINISH SHOULD BE 3.2 MICROMETER

4. DEPTH OF ENGRAVING TO BE 0. 3MM.

5>. COMPONENT TO BE FREE OF BURRS, FLASHES, SCRATCHES AND

SHARP EDGES
ALL DRILLING AND TAPPING TO BE CARRIED OUT POST DIE-CASTING
. COMPONENT TO BE BLACK ANODIZED TO A MINIMUM

THICKNESS OF 15 MICRONS

— O

DOC. FORMAT 11-98 8 7 6

BOTTOM COVER

O 4

3

fa

PRO-E REV1S

- =)
(<6>
N ]
fﬁg = i / K
? 2)
SPRING PIN TO BE INSTALLED
T0 A DEPTH OF 8 MM
L [T
(
O O O FirsT usep on  SMART L IGHT POC 4]°"™: ATC |05-17-18
e . orcc DIMENSIONS ARE TN THIRD ANGLE PROJECTION | prs. "m.
' [] INCHES
SEE NOTE ( > Xl MILLIMETERS é} EI NEXT ASs Y i
OR Honeywell Technology Solutions
( > DRAFT CALLOUTS Bangalore 560076, INDIA
INDICATES INDICATES
FUNCTIONAL DIMENSIONING: QO BEGREASINC O SNGREASING T
ALL DIMENSIONED AND UNDIMENSIONED GEOMETRY TTOLERANCE UNLESS NOTED- REFERENCE BOTTOM COVER-POC-4
AND TOLERANCING ON THIS DRAWING IS DEF INED - —
AND CONTROLLED BY THE DATABASE FILE. KEY MS‘CLHL“;EETDER%* i FORME?NCZHE; 5 — DIt CASTING
INFORMATION IS REPRESENTED BY THIS DRAWING - REV.
CONTAINING FUNCTIONAL DIMENSIONS. OVER _ INCLUD NG HAB_45001508 1
CONTROLLED BY DATABASE FILE: 6 To 30 102 -go i gf DEV NO.
REV. DATE E.O. REV. DATE E.O. REV. DATE E.O. HA8745OO/‘ 508 PRT 1380 ¥g ;88 igg .OOO :E.O/\O S—
DIMENSIONS & TOLERANCES PER ANS| Y14.5M-1994 & ECC ENGINEERING STANDARDS ‘ 300 TO 1000 %08 | | oot enanal s ze ) [seae 1000 |Sheﬁ | of 3

ﬂ ARCHIVE REF. NO.




3 | |/ | o | v 4 | 3 | fa | 1
A ———m—
e ed o) 2% 122 =t 122
2 X 5—¢ (2 5) —] l—
X SEE DETAIL L 2
o i N e
#3.30 DRILL ¥ 10 —{
section M-M M2 X 0.7 TAP T 8 . I %
(2 PLACES) ol = (3)
R3
/’é* /
2% 1240
C ) Rzﬁ >
2° 5
+ L8 {8 o (2 540.1) 5
20
o% 25 L I ¢ ‘ 5
* ? ‘ pree' . @156t g | T ,
2% 25 ) °
% ; >
52.8 1L
(2% 5+£0.1) ; - 2
(2x 1240.1) ﬁi u
C Y /yJ ‘ o,
N
(3)
- SEE DETAIL D
+
ROV AN ' R?
@2 50 DRILL ¥ 7 0 | - il
M3 X 0.5 TAP ¥ o
NOTED “A° CJECTOR PINS SHOULD BE PROVIDED
ON THIS SURFACE DEPTH 0.5 % o
SECTION A-A
: Yl i
D200.6 /2 L
(3% 6701 )—=t=—(3X 67401 }—= 2.2
(24.740.1) /
: 61402 —— 61402 s o R s
i - ¢
DETAIL D
' ? v 4.8 SCALE  4.000
|
N \ 7 }\J 7 J/
0.2 48 0 | (e ‘ \Fl ﬁ T
/1 -0.2
74402 oy 6 7
DETAIL L
| SCALE  3.000
[l |.|
A ' . U A/ J .
|
secTion B-B
BOTTOM COVER
v, ATC 05-17-18] PRAWING NO. REV.
HAB-45001508 |1
REV. DATE E.O. REV. DATE E.O REV DATE .O. S1ze DSCALE WOOO SHT 2 OF 3
POC. FORMAT 11-98 8 7 6 4 3 2 PRO-E REV19 ﬂ ARCHIVE REF. NO.




& | o/ | o | 5 v il | 3 | 7 | {
(88 940 1 )———s=f= 25 =
N5 5801 = 2X 60 340 1 )=
G115 X 90
%
G111 540 1
DRILL THRU I /
i
Z )
>
i ) 2
| y 2%(172) P
(100.52£0.1) (2% 4240.1) oy 133 - >
I (88.940.1) 7 : # | 5
63402 90° A X X - -
(22X 46x0.1) G510 7 D115 J ¢ | 5
(2x 4240.1) ¢* 38 : 2
v v v ! v 55 5 2% (12) i
i i A + [ ' v
=]
(23.840.1) (23.840.1) cetion Jed =4
(2% 46+0.1) ] (TYP 4 PLACES) o=
63402 65402 % = Y (T.7)
(86.540.1) |
v
! Y $3.30 DRILL ¥ 8
M4 X 0.7 TAP ¥ 6 |
!
¢ section G-G
(TYP 2 PLACES)
D12 ‘
? |
THIS SURFACE OF THE SEE DETAIL N 2% R A
30SS TO BE FREE OF —(31.5£0.1) ——
ANOD 17 ING 0
~——( 2 79,7401 = 20 797401 )= 2X @14.5 DRILL THRU
M16 X 1.5 TAP THRU L
SECTION -
~————(88.940 1 )—— =
vitw K-K
- b
1
710 |
| v
AL ¢ § i J @2 50 DRILL ¥ 7
{AX 56i0.ﬂ}><{4x 56i0.ﬂ}> ‘ ; D \ | M3 X 0.5 TAP ¥ 6
D
? iTalL E
= ———— SCALE  3.000
| (TYP 8 PLACES)
verart N
% \ | ) SCALE  3.000
™ - - =~ T (TYP 2 PLACES)
| f ]
M — ]
0% Y e
\_/ﬁ; DWN . ATC 05’17’18 DRAWING NO. REV.
] SEE DETAIL E
secrion Fr HAB-45001508 |1
REV. DATE ) REV DATE E.o. JRev. DATE E.O. S1ze DSCALE 1.000 SHT 3 ofF 3
poc. FORMAT 11-98 8 7 6 5 4 3 2 PRO-E REV19 ﬂ ARCHIVE REF. NO.




	Sheet 1
	Views
	new_view_125
	new_view_127
	new_view_132


	Sheet 2
	Views
	new_view_110
	bottom_111
	right_112
	D
	L
	bottom_133


	Sheet 3
	Views
	bottom_113
	right_114
	K
	new_view_119
	E
	N
	right_140



